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3.1 Greatest Common Factor
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2) Find the term that makes the two expressions equivalent.
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We are used to starting with two multiples and distributing, but sometimes we want to work backwards from
an expression to see the multiples that it came from.
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The reason we care so much about factoring is because it helps us find solutions to equations. We will talk
about that more in unit 4.

_—~There are lots of different strategies to factor, but the first method you should always check for is the greatest
__~ommon factor.
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To check if there is a coefficient as a GCF, look for the biggest number that every coefficient is divisible by.

3) Factor the greatest common factor out of each expression.
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Negatives

If the first term of an expression is negative, then we will factor out the negative. Because of this, itis super
important that your expression is in _jw()\ )CM__ before you start factoring. X ,
\a\iﬂ\M,s-\— {.&POMA*‘ 4+ lowtsAt O(PONUH'_
4) Factor the greatest common factor out of each expression.
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If every term has the same variable (even if the exponents are different), then you will have a variable as a
GCF. Whatever the smallest exponent is is the amount of the variable tha

t you can factor out from each term

5) Factor the greatest common factor out of each expression
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Now that we’ve seen each of these individually, [es start putting them all together:.
6) Factor the greatest

Zo[rajnon factor out of each expression.
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ractoring by Grouping

\‘
'f you are given four terms and are asked to factor, you may want to consider factoring by grouping. When we
factor by grouping, we are going to split the expression into groups and take the GCF out of each group.

¥What is the first thing you always look for when you factor? _G_OE_ E
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Steps to factoring by grouping:
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